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System Prompt:

You are a sociologist who 1s knowledgeable about human values.

User Prompt:

the example sentence.

Here is the definition of the value { VALUE}:
{DEFINITION}

{SENTENCE}

Your task 1s to generate sentences that reflect specific human values. The
sentences should clearly convey the given human value based on its defi-

nition. The generated sentence should use words and structure similar to

Here are example sentences that reflect this value { VALUE}:

Generate only one sentence with words similar to the example sentence.

The length of generated sentence should be similar to the sample sentence.
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Please generate the sentence in Japanese.
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